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~ = Solution: spot pricing scenario #1 [ EL0

Generating units available: i = 1, 2, 3; Demand blocks available: j=1, 2, 3,5

Load met = 130 MW, Spot price = 30 $/MWh
B Generator surpluses: 80 $/MWh
Genl: 1000 $/h i i i : : 5 5
Gen2: 0 $/h : oo L P P P
Gen3: 0 $/h ! N
Total gen: 1000  $/h | [ I RN A U I S
Demand block surpluses: i T
Dem1: 1600 $/h | |- - ; S Rt SRR
Dem2: 1400  $/h | A L
Dem3: 200  $Mh [OREEEEEEREEREEEE T
Dem4: 0 $h| | e
Dem5: 0 $/h . Pl
Total dem: 3200 $/h I R U S - i ]
Industry surplus: 4200 $/h i T
0 80 MW 160
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Solution: predetermined pricing scenario #1
Generating units available: i = 1, 2, 3; Demand blocks available: j=1, 2, 3,5

Load met = 130 MW; Predetermined price = 33.3 $/MWh

B Generator surpluses: 80 $/MWh
Genl: 1333  $/h i i i : : i i
Gen2: 100  $/h : R P
Gen3: 0 $/h ! N
Total gen: 1433  $/h | [ I RN A U I S
Demand block surpluses: i oo
Dem1: 1467  $/h | |- e e B B R
Dem2: 1167  $/h N
Dem3: 133 $/h |40 A
Demé4: 0 $h | |— —
Demb: 0 $/h , Pl
Total dem: 2767 $/h I R U S - i ]
Industry surplus: 4200 $/h i T
0 80 MW 160
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Generating units available: i = 2, 3; Demand blocks available: j=1, 2, 3,5
Load met = 60 MW; Spot price = 50 $/MWh

B Generator surpluses:
Genl: 0 $/h L $/MV:Vh : : . ; ; ;
Gen2: 1200  $/h i oo
Gen3: 0 $/h T YT
Total gen: 1200 $h | | . P P
Demand block surpluses:
Dem1: 800 $h | L R ; R I N
Dem2: 0 $/h | : .
Dem3: 0 S e R R RN S A
Dem4: 0 $/h ; : .
Demb: 0 $/h L . P T T T
Total dem: 800 $h | | P L I i -
Industry surplus: 2000 $/h T bl
0 80 MW 160
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Solution: predetermined pricing scenario #2

Generating units available: i = 2, 3; Demand blocks available: j =1, 2, 3,5 Generating units available: i = 1, 2, 3; Demand blocks available: j =1, 4,5
Load met = 130 MW; Predetermined price = 33.3 $/MWh Load met = 90 MW; Spot price = 20 $/MWh
Generator surpluses: Generator surpluses:
Genl: 0 $/h & $/MV:Vh T T Y Y Y Y Genl: 0 $/h L $/MV:Vh T T T T T T
Gen2: 200  $h i oo Gen2: 0 $/h : oo
Gen3: -1867  $/h 1 YT Gen3: 0 $/h T YT
Total gen:  -1667 $/h | | . R P Total gen: 0 $h | | . I TR T
Demand block surpluses: Demand block surpluses: A R
Dem: 1467  $/h | - L I S I Dem: 2000 $h | foe- Lo N I
Dem2: 1167 $/h P A Dem2: 0 $ih i A
Dems3: 133 $/h [AOf--ssrheensdrneadocees R S o B B Dems3: 0 Y e B R e e T
Dem4: 0 $/h I N S Dem4: 500 $h = I
Demb5: 0 $/h L . P T T T Demb5: 0 $h | [ L """ : ; : : :
Total dem: 2767 $h| | N TR VRN N 1Y I P Total dem: 2500 $/h : R N o
Industry surplus: 1100 $/h A Industry surplus: 2500  $/h e
0 80 MW 160 0 80 MW 160
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Solution: predetermined pricing scenario #3 =l Cenu forEnergyand.
Generating units available: i = 1, 2, 3; Demand blocks available: j = 1, 4, 5 : I
Load met = 40 MW; Predetermined price = 33.3 $/MWh g
Generator surpluses:
Genl: 533 $/h e $/MV:Vh : : . ; ; ;
Gen2: 0 $/h : oo
Gen3: 0 $/h T YT
Totalgen: 533  $h | | . I TR T
Demand block surpluses: oo b
Dem1: 1467  $h | Lo e N U —
Dem2: 0 $/h i A
Dems3: 0 L s R R e e T
Dem4: 0 $/h = RN S S S
Dems: 0 $h| [T R o
Total dem: 1467 $/h i R o
Industry surplus: 2000 $/h e
0 80 MW 160 0
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~ = Elec9201 Exam 05 Q5 Solution

Envil

- Load met = 130 MW;

enerator surpluses:

Genl: 1000
Gen2: 0
Gen3: 0

Total gen: 1000
Demand block surpluses:

Dem1: 1600
Demz2: 1400
Dema3: 200
Dem4: 0
Demb5: 0

Total dem: 3200
Industry surplus: 4200
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ng units available: A, B, C; Demand blocks available: j = X, Y, Z

Spot price = 30 $/MWh
80 $/MWh
______ N N
: P -
- U Pl
______ i I
IS U I S
s
o 800 MW 1600




